W josb

pi[ T 3 54 Jus U i 350
(2 )il L g b : B B sk

IR I &5 Wl w2 3,

100 % e 100 % S

Llaall Hlaal!

(e )l 2l k] Ayl o3

.L’_-}Ly I.I?.I.' u&;\”idni -b}-, \3‘ #_-) \)' 761.3 ‘_-h'Jxrl-‘Alﬂi J_'"E

3,5 byl & [ 3/ 2544 o [ 451 3, S Sl 1/ S/ 3/ 2544 | [ 451

31.62 451 3, alad Yl 3.6 452 o5, Wladl r w2y 453 43, nlai Y=
31.6 #20 = 5 gl e 316 /451 3, ke L
38.3 pl5 25 gl 3 24.5 15 25 Pl 6>
32.9 z /451 4, inkai L2 24 =/451 43, iaad L2

1o | oicall el s Sibas o W2 ade e p Bl ey Tl T o] e o RSN 06 s 1 oo | Teniadd el s Sl 5 W ade e e S R s s e W2 aa g



